
ΑΡΧΙΚΕΣ ΤΙΜΕΣ:
w1=0.05 w2=0.025 n=0.2

ΒΗΜΑ 1
x11=0, x12=0  =>   α = x11w1 +  x12 w2 = 0 * 0.05 + 0*0.025 = 0   =>  f(a) = f(0) = 0 =>  E1 = |0-0| = 0
x21=0, x22=1  =>   α = x21w1 +  x22 w2 = 0 * 0.05 + 1*0.025 = 0.025   =>  f(a) = f(0.025) = 0 =>  E2 = |1-0| = 1
x31=1, x32=0  =>   α = x31w1 +  x32 w2 = 1 * 0.05 + 0*0.025 = 0.05  =>  f(a) = f(0.05) = 0 =>  E3 = |1-0| = 1
x41=1, x42=1  =>   α = x41w1 +  x42 w2 = 1 * 0.05 + 1*0.025 = 0.075   =>  f(a) = f(0.075) = 0 =>  E4 = |1-0| = 1
Ε = E1 + E2 + E3 + E4= 0 + 1 + 1 + 1 = 3

ΒΗΜΑ 2
w1 = w1 + n(y1 – y'1) x11 =>   w1 = 0.05 + 0.2(0 – 0)0 = 0.05

w2 = w2 + n(y1 – y'1) x12 =>   w2 = 0.025 + 0.2(0 – 0)0 = 0.025

x11=0, x12=0  =>   α = x11w1 +  x12 w2 = 0 * 0.05 + 0*0.025 = 0   =>  f(a) = f(0) = 0 =>  E1 = |0-0| = 0

w1 = w1 + n(y2 – y'2) x21 =>   w1 = 0.05 + 0.2(1 – 0)0 = 0.05

w2 = w2 + n(y2 – y'2) x22 =>   w2 = 0.025 + 0.2(1 – 0)1 = 0.225

x21=0, x22=1  =>   α = x21w1 +  x22 w2 = 0 * 0.05 + 1*0.225 = 0.225   =>  f(a) = f(0.225) = 0 =>  E2 = |1-0| = 1

w1 = w1 + n(y3 – y'3) x31 =>   w1 = 0.05 + 0.2(1 – 0)1 = 0.25

w2 = w2 + n(y3 – y'3) x32 =>   w2 = 0.225 + 0.2(1 – 0)0 = 0.225

x31=1, x32=0  =>   α = x31w1 +  x32 w2 = 1 * 0.25 + 0*0.225 = 0.25  =>  f(a) = f(0.25) = 0 =>  E3 = |1-0| = 1

w1 = w1 + n(y4 – y'4) x41 =>   w1 = 0.25 + 0.2(1 – 0)1 = 0.45

w2 = w2 + n(y4 – y'4) x42 =>   w2 = 0.225 + 0.2(1 – 0)1 = 0.425

x41=1, x42=1  =>   α = x41w1 +  x42 w2 = 1 * 0.45 + 1*0.425 = 0.875   =>  f(a) = f(0.875) = 1 =>  E4 = |1-1| = 0

Ε = E1 + E2 + E3 + E4= 0 + 1 + 1 + 0 = 2

ΒΗΜΑ 3
w1 = w1 + n(y1 – y'1) x11 =>   w1 = 0.45 + 0.2(0 – 0)0 = 0.45

w2 = w2 + n(y1 – y'1) x12 =>   w2 = 0.425 + 0.2(0 – 0)0 = 0.425

x11=0, x12=0  =>   α = x11w1 +  x12 w2 = 0 * 0.45 + 0*0.425 = 0   =>  f(a) = f(0) = 0 =>  E1 = |0-0| = 0

w1 = w1 + n(y2 – y'2) x21 =>   w1 = 0.45 + 0.2(1 – 0)0 = 0.45

w2 = w2 + n(y2 – y'2) x22 =>   w2 = 0.425 + 0.2(1 – 0)1 = 0.625

x21=0, x22=1  =>   α = x21w1 +  x22 w2 = 0 * 0.45 + 1*0.625 = 0.625   =>  f(a) = f(0.625) = 1 =>  E2 = |1-1| = 0

w1 = w1 + n(y3 – y'3) x31 =>   w1 = 0.45 + 0.2(1 – 0)1 = 0.65

w2 = w2 + n(y3 – y'3) x32 =>   w2 = 0.625 + 0.2(1 – 0)0 = 0.625

x31=1, x32=0  =>   α = x31w1 +  x32 w2 = 1 * 0.65 + 0*0.625 = 0.65  =>  f(a) = f(0.65) = 1 =>  E3 = |1-1| = 0

w1 = w1 + n(y4 – y'4) x41 =>   w1 = 0.65 + 0.2(1 – 1)1 = 0.65

w2 = w2 + n(y4 – y'4) x42 =>   w2 = 0.625 + 0.2(1 – 1)1 = 0.625

x41=1, x42=1  =>   α = x41w1 +  x42 w2 = 1 * 0.65 + 1*0.625 = 1.275   =>  f(a) = f(1.275) = 1 =>  E4 = |1-1| = 0

Ε = E1 + E2 + E3 + E4= 0 + 0 + 0 + 0 = 0
Τελικές τιμές: w1 = 0.65 και w2 = 0.625


